A. Appendix A

GDP per capita growth y/y
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Figure A.1.: GDP per capita y/y growth
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SE versus FR (with least squares fit)
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Figure A.2.: Relationship between fertility rate vis-a-vis secondary education

v versus LE (with least squares fit)

Figure A.3.: Relationship between GDP growth and life
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v wversus Y (with least squares fit)
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Figure A.4.: Relationship between GDP growth and log GDP




v versus SE (with least squares fit)
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Figure A.5.: Relationship between GDP growth and secondary education



v wversus RL (with least squares fit)
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Figure A.6.: Relationship between GDP growth and rule-of-law



w wversus TT (with least squares fit)
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Figure A.7.: Relationship between GDP growth and terms of trade



v wversus DI (with least squares fit)
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Figure A.8.: Relationship between GDP growth and democracy index



v versus GE (with least squares fit)
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Figure A.9.: Relationship between GDP growth and government expenditure



v wversus INF (with least squares fit)
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Figure A.10.: Relationship between GDP growth and inflation
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v wversus INY (with least squares fit)
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Figure A.11.: Relationship between GDP growth and investments
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v wversus PAT (with least squares fit)
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Figure A.12.: Relationship between GDP growth and patents
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Figure A.13.: Development of GDP per capita in time
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